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TECHNOLOGY, WEST BENGAL
Paper Code : PCC-CS-302
To be mentioned to the main answer script )

COMPUTER ORGANISATION
Time Al.lotted : 3 Hoﬁrs

PUID : 03444 (

Full Marks : 70

The ﬁQWes_.in the margin indicate Sfull marks.
Candidates are required to give their answers in their own .

words as far as practicable. .

GROUP - A |
( Multiple Choice Type Questions )

1. Choose the correct alte

rnatives for any ten of the
following : .

) 10x1=10
1) A source program is usually in

a) Assembly language
b) Machinc level language
. €)  High-level language
d) Natural language.
+ 1) In straight binary code, N-bits or N binary digits

can represcnt .................. different values.
a) 27N b) 2A(N +1)
c)  27(N-1) d) 2f~N-1.
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Maximum n bit 2's complement number is
b) 2An-1

d) Cannot be said.

a) 2An t
c) 27 (n-1)-1

The addressing mode,
the operand value is

where you directly specify

a) - Immediate b) Direct

d) Relative.

¢) Definite
is the effective address of base-register

v) How
calculated 7
a) By addition of base reglster contents to the
part1al address in instruction _
b}- By addition of implied register contents to the
partial address in instruction '
c) By addition of base register cohtents to the
~ complete address in 1nstruct10n
d) By addition of implied reglster contents to the
complete address in instruction:
vi) The instruction, Add R1, 45 does
a) Adds the value of 45 to the address of R1 and
stores 45 in that address.
'b) Adds 45 to the value of R1 and stores it in R1
c) Finds the memory location 45 and adds that
content to that of R1
d) None of these. |
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A 2% Bit addrmg, wenerates an address space of
aaaaaaaaaaaaaa ey Ihﬁﬁti()f]ﬁ,
a) 1024 b) 4096
48
cj 2 d) 16,777,216,
What coyld be

the mazimum size of onchip cache

MCMory for an n-address bit processor 7
g)] O
b o2n

¢} infinite
dj decided by manufactyrer,

To get the physical address from the logical address
gencrated by CPU we use

2) MAR | b} MMU
¢ Overlays d) TLB.
% The contention for the usage of ’a hardware device

iz called
a} structural hazard
b} stalk
¢j = deadlock
dj none of these,
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< The reriods of time when the unit is idle is called

oy

h‘\.b
&)

- -
B "‘N..ﬁ':\-\'!e-fq
:;1 e PR

S Both Stelisand Buhbbles.

) The DMA transfer is initiated by

@) Processor -
) The process being executed .

GROUP-B
{ Short Answer Type Questions )
Answer any three of the following. 3x5=15

adders ? Explain with proper circuit diagram.
3. Explain the different kinds of data hazards in pipelining
with suitable examples.
.;.-J-./EJ Briefly explain IEEE 754 format for floating point

representation of numbers.

b)  Represent the decimal value-12.5 in IEEE single
- precision format. :
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Il direey Mapped cache has a hiy ratc of 95%, a

hit '
W time o M8 and a migs Penally of 100ns,

what iy the e

"age memory access lime ?

Il an Lo ache is aqdeg With a hit time of 20ns

and a hit rate of S0%, what is the new average

Memory access time 7

GROUP - ¢
( Long Answey Type

Questions )
Answer any three of t

he following. 3 x 15 = 45

rite short noteg on the following :

a) Rcstoring Division Algorithm
b) 'Dircct Memory Access
¢) IEEE double precjsion format.
7. a) Explain the difference bclwccn: full associative
and dircct mapping technique.
b) Expléin the writc back and write through policics
in cache.
* ¢-3503/3(Nl _ S | | Turn over

http://www.makaut.com

wodneyew mmm//:dyy



wodneyewr mmm//:dyy

http://www.makaut.com
CH/CSE/IT(N)/ ODD/SEM-3/PCC-CS-302/2019-20

CS/B.TE
c)  Cache memory, has 2K blocks. Block size is of |
4 words = 16 Dyt€s: 32 bit address is Pfov,idcd.
The méchine is bytc addressable.’ | :
)  What is the bit length for each field in
Direct Mapping ? |
i) What 18 the bit length for' each field in
é-way set asso‘piativc mapping ? '
iii) What is the bit. length for each .ﬁe_ld in.
4-way sct associalive mapping ?
8. &) What is the diflcrence between iéolatec‘l 1/0 and

memory mapped [/O ? http://www.makaut.com

" b)  Explain Cache Coherence.
c) Explain the diffcrent hazards in pipelining. -
9. 'a) What are the difft;:rent addressing modes ?

b) Explain with suitable examples of c’abh of the

modes.

¢) - Evaluate the -I‘oIldwing arithmetic expression into
(i) three address, (ii) two address, (iii) one address

:’:md (iv) zero address instruction format

X=[A+B)*[C+D]

* %-3503/3(N) 6 ,
http://www.makaut.com

wodneyew mmm//:dyy



wodneyewr mmm//:dyy

http://www.makaut.com

t! }' 4 \ |
CS/DTECHCug YITN)  ODI/81M - S/ PCC-CH.002/2010-20

10. n) Whit e
CISC ?

the differencen between  RISC and

b) Divide

13 by 11 using Nnn-rcnl;)rlnp, nlgorithm
( The ‘

tracing able must be shown clearly )

¢) What is me
meant |y uvcrﬂow aned underfllow in

signed
magnitude rcp:cqvnlulum of numl_wla ?

e SR

e
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